Tor

@ 11 714 ® 12 7H4]

@ 10 7H4]

® 14714

@ 13 744



0 58 5 7HA19] $247} A 6 3] A FoIA 3 L Bob BE 5
o Al Abe] A4 L R A7

@ 48 7}A] @ 60 7HA] ® 100 7}A]

@ 120 7HA] ® 150 7}A]



52 1709 F419] 1718 SA0] 9w, 5L sigo] tom
ZASIE 24:0] o] g S8 Fatolal,

D
=%



@ 9714 @ 12714

® 24714

@® 8714
@ 18717






Zey o] 8 7&0] 4 Tz0] 57 Bof ek, A& AW
29 BQlakn A Yo

o
g
== 9 EFAY FeSAE W, FAE

ns 8 72 g ool

5 L
=%



7. o= 2"AA x o dole?

@ 3cm @ 3.5cm @ 4cm

@ 4.5cm ® 5em



BYAPHAE ABCD A ZF A 9] o] 5 E A o] CD 9] AXA 3 Thte=
e Ezt5lA}; /CEF =36° ¢ ], /BCD 9] 277

A.. D

@® 36° @ 72° ® 108° @ 120° ® 144°



o

cm Q1 o] 471 et o] FolA 371

6cm, 9
BIE 5 9l B8-S 757

©)

]

@

(ST



/C = 90°, AC = BC

°] AABC =

A

©
=

10. ©

A

Foltt. AB Yofl AC
ABLDE 7} 5[4 & E € BC

flel F=vt. EC = 4cm 9 @, DB + DE ¢

lo

ADEHL

oA

?

1

1

Z

]

W

Edcem C

@ 7.5cm ® 8cm

@ 7em

® 9cm

@ 8.5cm



@ 3cm ® 4cm @ 5cm ® 6cm

@ 2cm



12, o Iel4 0 = AABC 9 94 T, 1x— 2y ©] 2718 T3}
ofet.




13. o2 293 22 HPAHEY ABCD oA A E,FE AD o 45&
ot} AB = 8cm, BC = 13cm 4 ], PA 9] do]E L3folat,

B ~13ecm~C



14. o 29elA BDE AAZY ABCD O] A

E

tfZtdelt}. LABD, /BDC 9] o]5E410]
AD, BCe¢ b= A& 47 E, Fet & o,
DE = 8cm ¥ W, oEBFD ] E2&?

O

© 30cm @ 32em @ 34em

@ 36cm ® 38cm




15.

the 137} o] SWAltE]E ABCD o4 AD // BC // EF, AHLBC
ojtt,

AG : GH = 2:19°]11, AIt}e]&E AEFD @ EBCF 9 Ho|7} &2 of,
EG 9] Zol& F3}oiat},




